ZU=JaqAhk

FJ series

@ ERVUVIRE 920~p200

BAEASERERD (kN) &1 FaRnE

RoHs ED)

(mm)
FJ-#%- 3 M3x0.5 0.019 —_— —_— 0.5
4 Max0.7 0.053 —_— 0.5
5 M5x0.8 0.121 —_— - 05
B MEX1.0 1.08 —_— J—— 0.75
8 M8x%1.0 1.08 1.08 1.08 0.75
8-1.25 M8x1.25 1.08 1.08 1.08 0.75
10 M10x1.25 2.45 245 245 0.75
12-1.25 M12x1.25 2.45 245 245 0.75
12 MI12%1.5 2.45 245 245 0.75 .
14 M14x1.5 5.88 5.88 5.88 1.0 =L —10~60C
16 MI1BX 1.5 10.8 10.8 10.8 1.5
18 MI18x1.5 10.8 10.8 10.8 1:b
22 M22x1.5 17.6 17.6 17.6 2.0
26 M26x 1.5 275 275 275 3.0
30 M30x1.5 60.8 60.8 80.8 3.0
36 M36x 1.5 87.3 87.3 87.3 4.0
40 M40x 1.5 87.3 87.3 87.3 4.0
45 Ma45x 1.5 108 108 108 4.0
31 EXERSEERAOIBEEETRLET.
#2:FJ-B-1.25, FJ-12-1.25134 T3 vRTT.
FJ-3B. 40, 453FFEERTT .
L RERTAE
EFD-0-3
s e £l
hO-5 S
% @ Euet 0 |EAR
L T—bR
F TSR
I —
3 M3x0.5
4q Max0.7
5 M5Ex0.8
X 1.
ERTHI) o . Mox O
FJ-0-3 B8-1.25|M8x1.25
PRC— 10 _|[M10x1.25
05}.“7}  EAR 12-1.25\M12%1.25

@® RLOFUEXEwF : M3x0.5

—REHIII AR

(A1#04No.CC-1226)
(B X3, 4. 5OHDOREETT. TNLSE

FREAZER (C T I RE I AT HE)

FJ - e

HEESALEDE L IEEL.

1948 CKD

BETTY.

o ) @ ZREHRETIRETEATED
\ P43 )

12 M12X15
14 [M14X1.5
16 M16X1.5
18 M18X1.5
22 M22x1.5
26 |M26x1.5
30 |M30x1.5
36 |M36X%1.5
40 M40X1.5
45 |M45x1.5

o000 0O0OOOGOGOGNOSOGOOSOSNOSSD




